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. sm ©:= 23 and les n the second ﬁdaaln-tn'{') W°~B <30°.

a Skekl, © 4 O
c. Find © and B¢

b, Fmd cos 9} +tan QJ Sec_eic,scgjca%e_

Z. For eo.ch 043\2 be\ow: Q. v_u)mk s dearee or rudian e.?utmlw-f'
b. Tell what fs re e s.
-"uﬁn O“t

0. 40° . 290° . 520° c¢. Gwe the othor edbamle be
260" that has an a?awalm‘f SING Va e

v s V.T.“/IO vi. Sd  and an eqowaled  cosme valwe.

3. Seolve each equa;l—mn oadk e -L-La 2 correct SOIU‘[-JCMS
over the domain O <46 L3607
a. Bz sm™ (0.5) b, cos E= {/5 c. Ltanm © = 1/43'

A
a. sSmb-= ‘!/4 e. 4+ 3ces®= | £ (Sm o) = “?E."
* 4 gaswers

4. TE sm®= L & cos &= 3?:, prove thost -@raha e,

(sin 8)1 + (eos @)L::I :
S. NO C.ALC.ULA‘K)[ZS! Evacvate eacl expression .
2
a. 2 s 30° cos 30 b. sin 45° + s 60° c. G:_cm %)

d. cos 120" sin 30 + cos 30 - sm 12D° =, G.os %)z“ (ﬂh ‘2:')2

(:u '-Del&'mma l-c eac,\n 1S ’Lrue of (ia\se. I-C -ga.lsej SL\ow u)Lj

C. Sin qOO- Sin 60° 2 Sin 30 L. cos B = c.osC—G)

c. Ssec 45° = JZ. a. 3':.05(“/3) = cos T

€ sSinh © = s (180-*9) £, cos %%— = 135°



1 Lon &= Y4 and z0LO < 260"

a. Skelch © 1w +he correck CIUGA'M\‘.
b. Find € ond © ot

¢. Eind snb £ cos B.

d. T or F“ ‘Eah (9"]800) = "/4 O\.\SO.
8. Fm&l P and 9
1 B8
e
4

i 4. Review - Solve eacl eczuwhom.

| d. 7(x—43“—4xf3(2._-x) b.%‘-Bx‘: 18 c. 10343&'-: 2

d. y*-71x+8=4-2x e 2-Ix+6=0 £ 0.4 &= oo

o, A -Cer'ms wl«ee\ \f\G.S G dgamc-l-er c:-C [0O .H:.
a. Find +he circumferene o +the o)kee,{,

’0, U&lmj e ?l‘o{)&"hota‘ i -Clnd -(-.-L\-e das-,lwue

C .. arc!gé*ck
30° © e
ou woold travel £ the Ferms whee| 4orned 60°,

lhow  that this distarce Caclegth) s szwtplj thee
redios x B (in roduas) .

. Fmd theo area o‘C'-l:-Lus neh- V“tj‘v‘-"'{:r‘mvjle laaj using
OHCAHTOA do  £ind e 'r\elal'l-l-.

{

A 2. Use boor“ c_a.lculm-#or = ’fLe
o hocw 4:L4> ‘i’rq[oL -y ﬁ:sml‘:’f Chunge
- 14" ead« o —L—L@ -@; owmj, M\k}‘lw

\O

Q. 3: -smB b, 3‘2251519
c. 3: Sin (2.9) 4. Y= Sth (6+QO“)



